1) NiC|2(aq) + AngOA(aq) > NiSO4(aq) +2 AgCI(s)

1mol NiCl, y 1mol NiSO, ><154.77 g NiSO,
129.62 g NiCl, 1mol NiCl,  1mol NiSO,

25.00 g Ag,SO, x 1mol Ag,SO, 5 1mol NiSO, ><154'77 g NISO4 _[12.41g NiSO,
311.799 g Ag,SO, 1mol Ag,SO, 1mol NiSO,

25.00 g NiCl,

=29.85 g NiSO,

12.41 g NiSO4 can be made and Ag,SO4( is the L.R.

NiCl, NiSO,=1241¢g
Ag,SO,=0g AgCl
25.00 g Ag,SO, x 1mol Ag,SO, y 2 mol AgClI g 143.323 g AgCl _ 22,98 g AgCl
311.7999 Ag,SO, 1Ag,SO, 1mol AgCl
NiCl, NiSO,=1241¢g
Ag,SO,=0g AgCl =22.98 g
25.00 g Ag,50, x 1mol Ag,SO, y 1mol NiCl, X129.62 g NiCl, _1034 g NiCl,

311.799 g Ag,SO, 1mol Ag,SO, 1mol NiCl,

25.00 g NiCl; (started) — 10.34 g NiCl, (used) = 14.66 g NiCl, LEFT!

NiCl, = 14.66 g NiSO,=12.41¢g
Ag,SO,=0g AgCl =22.98 g

2) LisPOuag) + 3 AUC,H302(ag) =2 3 LIC2H30: (aq) + AuzP Oy

This is NOT a limiting reactant problem, you were only given an amount of one reactant! | was
checking to see if you were paying attention. You need only find how much of the 2
products can be made from the given mass of LisPO, (since no specific product was asked
for)

1mol Li,PO, _ 3mol LiC,H,0, 659849 LiC,H,0,
115.788 g Li,PO,  1mol Li,;PO, = 1mol LiC,H,0,

189 g Li,PO, x 1mol L|3I?O4 ><1mo| Al-13PO4 y 685.872 g Au,PO, _ 112 g Au,PO,
115.788 g Li,PO, 1mol Li,PO, 1mol Au,PO,

3) CU(NOg)z(aq) + N8.2C204(aq) > CUC204(5) + 2 NaN03(aq)

18.9 g Li,PO, x =[32.3g LiC,H,0, |

1mol Cu(NO,), y 1mol CuC,0, y 151.56 g CuC,0,
187.55 g Cu(NO,), 1mol Cu(NO,), 1mol CuC,O,
1mol Na,C,0, N 1mol CuC,0O, N 151.56 g CuC,0O,
133.9996 g Na,C,0, 1mol Na,C,0, 1mol CuC,0O,

0.500 g Cu(NO,), x =[0.404 g CuC,0,

1.25 g Na,C,0, x =1.41g CuC,0,

0.404 g CuC,04 can be made and Cu(NOg); is the L.R.



4)

Cu(NO3),=0g CuC,0, = 0.404 g
Na,C,0,4 N&NOg

1mol Cu(NO,), 8 2mol NaNO, 5 84.9947 g NaNO,

0.500 g Cu(NO,), x =0.453 g NaNO,
187.55 g Cu(NO,), 1mol Cu(NO,), 1mol NaNO,
Cu(NO3),=0g CuC,0,=0.404 g
Na,C,04 NaNO; = 0.453 g

1mol Cu(NO,), y 1mol NaC,O, y 84.9947 g NaC,0,

0.500 g Cu(NO,), x
187.55 g Cu(NO,), 1mol Cu(NO,),  1mol NaC,0,

=0.227 g NaC,0,

1.25 g Na,C,0q (started) — 0.227 g Na,C,0, (used) = 1.02 g Na,C,04 LEFT!

Cu(NO3),=0g CuC,0, = 0.404 g
Na,C,0, =1.02 g NaNO3; = 0.453 g

H2804(aq) + SI’BI’z(aq) -> SFSOA,(S) +2 HBI’(aq)

1.199 mol H,SO, y 1mol SrSO, N 183.68 g SrSO,
1L solution 1mol H,SO, 1mol SrSO,

1mol SrBr. 1mol SrSO, 183.68 g SrSO
23.66 g SrBr, x — L x 1 =117.6 g SrSO
J 2" 247.449gSrBr, 1molSrBr, 1mol SrSO,

0.525 L solution x

=116 g SrSO,

17.6 g SrSO4 can be made and SrBr; is the L.R.

H,SO4 = SrS04=17.6¢
SrBr,=0g HBr
23.66 g STBI, x 1mol SrBr, N 2mol HBr N 80.917 g HBr _15.5g HBr
247.44gSrBr, 1mol SrBr, 1mol HBr
H,SO, = SrSO, =17.6 g
SIBr,=0g HBr =15.5

1mol SrBr, ><1mo| H,SO, N 98.075g H,SO,

23.66 g SrBr, x
247.449SrBr, 1mol SrBr,  1mol H,SO,

~9.38 g H,S0,

You need to subtract this, so you have turn the volume of H,SQO, into mass:

1.199 mol H,SO, y 98.075g H,SO,
1L solution 1mol H,SO,

0.525 L solution x

=61.7 g H,S0,

61.7 g H,SOq (started) — 9.38 g H,SO, (used) = 52.3 g H,SO4 LEFT!



H,SO4 =523 g

SrSO,=17.6g

SrBr,=0g

HBr =15.5

5) 2 C3H18(|) + 25 Oz(g) - 16 COz(g) + 18 H20(|)

1mol C,H 16 mol CO, 44.01009gCO
3.8gCH,; x & 18 x 2 x 2=12gCO
9% s 114.2331gC,H,, 2molC;H,,  1mol CO,
2210, x 1mol O, y 16 mol CO, y 44,0100 g CO, _195¢CO,
31.998890, 25molO,  1mol CO,
12 g CO; can be made and CgHgg is the L.R.
CgHis=0g CO,=12¢g
Oy = H,0 =
38gC,H,, x 1mol CiH,,  18molH,0 180153gH,0 ., gH.0
114.2331gC,H,, 2mol C,H,, 1mol H,O
CgHis=0g C0O,=12¢g
0, = H,O =54
38gC,H, 1molCH,, 25molO, 31.9988¢0, ,, 50,

X
114.2331gC,H,, 2mol C,H,,

1mol O,

22.1 g O, (started) — 13 g O, (used) =9 g O, LEFT!

CgHis=0g

CO,=12g

02:9

H,O=54

6) 2 H|(aq) + CaC03(S) - Ca|2(aq) + H20(|) + COz(g)

0.010 L solution x

1.50mol HI 1mol Cal, 293.89 g Cal,
X =(2.2gCal,

X
1Lsolution 2mol HI

1mol Cal,
0.95 g CaCo, 1mol CaCoO, y 1mol Cal, y 293.89gCal, _ 28gCal,
100.09 g CaCO, 1molCaCO, 1molCal,
2.2 g Cal, can be made and Hl is the L.R.
HI=0g Cal;=22¢g CO, =
C&COg = H,0 =
0.010 L solution x 1.50 mol HI 1mol CO, " 44.0100gCO, _ 0.339CO,

X
1L solution 2mol HI

1mol CO,




HI=0g Cal, =229 CO,=0.33¢g
CaCO3 = H,O =
0.010 L solution 1.50 moI.HI y 1mol H,0 y 18.0153gH,0 _ 014 gH,0
1Lsolution 2mol HI 1mol H,0
HI=0g Cal,=22¢ C0,=0.33¢g
CaCOs3 = H,0=0.14¢

0.010 L solution x

1.50 mol HI 1mol CaCO, y 100.09 g CaCO,

- X
1 L solution

2 mol HI

=0.75 g CaCO,

1mol CaCoO,

0.95 g H,COg (started) — 0.75 g H,CO3 (used) = 0.20 g H,CO3 LEFT!

HI=0g

Cal,=22¢g

CO,=033g

CaCO; =0.20 g

H,0=0.14 g




